J. F. Kennedy sq. 6 10000 Zagreb, Croatia Tel +385(0)1 2383333

# Vedran Kojić <br> On a geometric programming approach to profit maximization: the case of CES technology 



# On a geometric programming approach to profit maximization: the case of CES technology 

Vedran Kojić<br>vkojic@efzg.hr<br>Faculty of Economics and Business, University of Zagreb<br>Trg J. F. Kennedy 6<br>10000 Zagreb, Croatia

The views expressed in this working paper are those of the author(s) and not necessarily represent those of the Faculty of Economics and Business - Zagreb. The paper has not undergone formal review or approval. The paper is published to bring forth comments on research in progress before it appears in final form in an academic journal or elsewhere.

Copyright March 2021 by Vedran Kojić
All rights reserved.
Sections of text may be quoted provided that full credit is given to the source.


#### Abstract

In this note, we give a generalization of the results for the profit maximization problem in the case of the Cobb-Douglas production function presented by Liu in [Appl. Math. Comput. 182 (2006), 10931097]. By using geometric programming, we solve a profit maximization problem in the case of the CES production function and show how the results obtained by Liu can be derived from our results.


## Key words

profit maximization, Cobb-Douglas technology, CES technology, geometric programming

JEL classification
C60, C65, D21, D24

## 1. Introduction

One of the most important problems in the theory of the firm is certainly the profit maximization problem. On one hand, traditionally, this problem is solved by differential calculus. On the other hand, the geometric programming (GP) technique was proposed by Liu [7] as a complementary approach in solving the profit maximization problem with Cobb-Douglas technology. Considering a Cobb-Douglas production function, given by

$$
\begin{equation*}
f\left(x_{1}, x_{2}, \ldots, x_{n}\right)=A \prod_{i=1}^{n} x_{i}^{\varphi_{i}} \tag{1}
\end{equation*}
$$

the profit maximization problem becomes

$$
\begin{equation*}
\pi^{C-D}=\max _{x_{1}, x_{2}, \ldots, x_{n}>0} p\left(A \prod_{i=1}^{n} x_{i}^{\varphi_{i}}\right)-\sum_{i=1}^{n} v_{i} x_{i} \tag{2}
\end{equation*}
$$

where $p>0$ is the market price per unit, $A>0$ is the scale of production, $x_{i}>0, v_{i}>0, i=1,2, \ldots, n$, are input quantities and input prices respectively, and $\varphi_{i}>0, i=1,2, \ldots, n$, are the elasticities of the Cobb-Douglas production function subject to

$$
\begin{equation*}
\sum_{i=1}^{n} \varphi_{i}<1 \tag{3}
\end{equation*}
$$

By using signomial geometric programming, Liu [7] obtained the result of problem (2) as follows:

$$
\begin{gather*}
\pi^{C-D}=\left(1-\sum_{i=1}^{n} \varphi_{i}\right)(p A)^{1 /\left(1-\sum_{i=1}^{n} \varphi_{i}\right)} \prod_{i=1}^{n}\left(v_{i} / \varphi_{i}\right)^{-\varphi_{i} /\left(1-\sum_{i=1}^{n} \varphi_{i}\right)},  \tag{4}\\
x_{i}^{C-D}=\pi^{C-D} \varphi_{i} /\left[v_{i}\left(1-\sum_{i=1}^{n} \varphi_{i}\right)\right], i=1,2, \ldots, n \tag{5}
\end{gather*}
$$

In this note, we solve a profit maximization problem in the case of the CES production function and show how the results obtained by Liu can be derived from our results.

## 2. Preliminaries

Here, we first introduce the CES production function, defined by

$$
\begin{equation*}
\psi\left(x_{1}, x_{2}, \ldots, x_{n}\right)=A\left(\sum_{i=1}^{n} \alpha_{i} x_{j}^{-\rho}\right)^{-\sigma / \rho} \tag{6}
\end{equation*}
$$

where $\alpha_{i}>0, i=1,2, \ldots, n$, are the given allocation coefficients subject to

$$
\begin{equation*}
\sum_{i=1}^{n} \alpha_{i}=1 \tag{7}
\end{equation*}
$$

$\sigma$ is the degree of homogeneity subject to

$$
\begin{equation*}
0<\sigma<1 \tag{8}
\end{equation*}
$$

and $\rho$ the is substitution coefficient subject to

$$
\begin{equation*}
\rho \neq 0, \sigma+\rho>0,1+\rho>0 \tag{9}
\end{equation*}
$$

Constraint (8) is the necessary and sufficient condition for the strict concavity of the CES production function (see [1]). Furthermore, constraint (8) ensures the correct definition of the profit function (see [6]).

Considering the CES production function, the profit maximization problem becomes

$$
\begin{equation*}
\pi^{C E S}=\max _{x_{1}, x_{2}, \ldots, x_{n}>0} p \cdot A\left(\sum_{i=1}^{n} \alpha_{i} x_{j}^{-\rho}\right)^{-\sigma / \rho}-\sum_{i=1}^{n} v_{i} x_{i} \tag{10}
\end{equation*}
$$

To solve the problem (10), we will need a power mean inequality.

Lemma 1 [Power mean inequality] Let $n \geq 2, n \in \mathbb{N}, x_{i}>0$, and $w_{i}>0, i=1,2, \ldots, n$, such that $\sum_{i=1}^{n} w_{i}=1$. Then, for all $r>0$ the following inequality holds

$$
\begin{equation*}
\prod_{i=1}^{n} x^{w_{i}} \leq\left(\sum_{i=1}^{n} w_{i} x_{i}^{r}\right)^{\frac{1}{r}} \tag{11}
\end{equation*}
$$

Equality in (11) holds if and only if $x_{1}=x_{2}=\cdots=x_{n}$.
The proof of the Lemma 1 can be found in [4].

## 3. The profit maximization problem with CES technology

According to [2, 3, 5], we can transform problem (10) into a GP problem in two steps as follows.
Step 1. Problem (10) is equivalent to

$$
\begin{array}{cl}
\max _{s, t, x_{1}, \ldots, x_{n}>0} & t \\
\text { s.t. } & p A s^{-\sigma / \rho}-\sum_{i=1}^{n} v_{i} x_{i} \geq t,  \tag{12}\\
& \sum_{i=1}^{n} \alpha_{i} x_{j}^{-\rho} \leq s .
\end{array}
$$

Step 2. Problem (12) is equivalent to the GP problem

$$
\begin{array}{cl}
\min _{s, t, x_{1}, \ldots, x_{n}>0} & t^{-1} \\
\text { s.t. } & p^{-1} A^{-1} t s^{\sigma / \rho}+\sum_{i=1}^{n} p^{-1} A^{-1} v_{i} s^{\sigma / \rho} x_{i} \leq 1  \tag{13}\\
& \sum_{i=1}^{n} \alpha_{i} s^{-1} x_{j}^{-\rho} \leq 1
\end{array}
$$

Note that the degree of difficulty of problem (13) is equal to $d=$ total number of terms - total number of variables $-1=(2 n+2)-(n+2)-1=n-1$. According to [5], the corresponding dual of (13) is the following problem:

$$
\begin{equation*}
\max _{\substack{\beta, \gamma, \delta_{i}, x_{i}>0 \\ i=1,2, \ldots}}\left(\frac{1}{\beta}\right)^{\beta} \cdot\left(\frac{p^{-1} A^{-1}}{\gamma}\right)^{\gamma} \cdot \prod_{j=1}^{n}\left(\frac{p^{-1} A^{-1} v_{j}}{\delta_{j}}\right)^{\delta_{j}} \cdot \prod_{k=1}^{n}\left(\frac{\alpha_{k}}{\varepsilon_{k}}\right)^{\varepsilon_{k}} \cdot\left(\gamma+\sum_{j=1}^{n} \delta_{j}\right)^{\gamma+\sum_{j=1}^{n} \delta_{j}} \cdot\left(\sum_{k=1}^{n} \varepsilon_{k}\right)^{\sum_{k=1}^{n} \varepsilon_{k}} \tag{14}
\end{equation*}
$$

s.t. $\quad \beta=1$

$$
\left[\begin{array}{cccccccccc}
-1 & 1 & 0 & 0 & \cdots & 0 & 0 & 0 & \cdots & 0  \tag{15}\\
0 & \sigma / \rho & \sigma / \rho & \sigma / \rho & \cdots & \sigma / \rho & -1 & -1 & \cdots & -1 \\
0 & 0 & 1 & 0 & \cdots & 0 & -\rho & 0 & \cdots & 0 \\
0 & 0 & 0 & 1 & \cdots & 0 & 0 & -\rho & \cdots & 0 \\
\vdots & \vdots & \vdots & \vdots & \ddots & \vdots & \vdots & \vdots & \ddots & \vdots \\
0 & 0 & 0 & 0 & \cdots & 1 & 0 & 0 & 0 & -\rho
\end{array}\right]_{(n+2) \times(2 n+2)} \quad\left[\begin{array}{c}
\beta \\
\gamma \\
\delta_{1} \\
\vdots \\
\delta_{n} \\
\varepsilon_{1} \\
\vdots \\
\varepsilon_{n}
\end{array}\right]_{(2 n+2) \times 1}=\mathbf{0},
$$

where $\mathbf{0}=\left[\begin{array}{llll}0 & 0 & \cdots & 0\end{array}\right]^{T}$ is a null vector with $n+2$ components, and $\beta, \gamma, \delta_{i}, \varepsilon_{i}, i=1,2, \ldots, n$, are dual variables. From (15) we get

$$
\begin{gather*}
\beta=\gamma=1,  \tag{16}\\
\varepsilon_{i}=\frac{\delta_{i}}{\rho}, i=1,2, \ldots, n,  \tag{17}\\
\sum_{i=1}^{n} \delta_{i}=\frac{\sigma}{1-\sigma},  \tag{18}\\
\sum_{i=1}^{n} \varepsilon_{i}=\frac{\sigma}{\rho(1-\sigma)} . \tag{19}
\end{gather*}
$$

Using (16) $\square$ (19), (14) becomes

$$
\begin{equation*}
\max _{\delta_{1}, \delta_{2}, \ldots, \delta_{n}>0}\left(\frac{p^{-1} A^{-1}}{1-\sigma}\right)^{\frac{1}{1-\sigma}} \cdot\left(\frac{\sigma}{1-\sigma}\right)^{\frac{\sigma}{\rho(1-\sigma)}} \cdot\left[\prod_{i=1}^{n}\left(v_{i} \alpha_{i}^{\frac{1}{\sigma}} /\left(\left(\frac{(1-\sigma) \delta_{i}}{\sigma}\right)^{\frac{\rho+1}{\rho}} \cdot\left(\frac{\sigma}{1-\sigma}\right)^{\frac{\rho+1}{\rho}}\right)\right)^{\frac{(1-\sigma) \delta_{i}}{\sigma}}\right]^{\frac{\sigma}{1-\sigma}} . \tag{20}
\end{equation*}
$$

Let $\tilde{\delta}_{i}=\frac{(1-\sigma) \delta_{i}}{\sigma}, i=1,2, \ldots, n$. Then, from (18) we have

$$
\begin{equation*}
\sum_{i=1}^{n} \tilde{\delta}_{i}=1 \tag{21}
\end{equation*}
$$

Now, problem (20) becomes

$$
\begin{equation*}
M=\max _{\substack{\delta_{i} i \\ \sum_{i=1}^{n} \tilde{\delta}_{i}=1}}\left(\frac{p^{-1} A^{-1}}{1-\sigma}\right)^{\frac{1}{1-\sigma}}\left(\frac{\sigma}{1-\sigma}\right)^{\frac{-\sigma}{1-\sigma}}\left[\prod_{i=1}^{n}\left(\frac{v_{i} \alpha_{i}^{\frac{1}{\rho}}}{\tilde{\delta}_{i}^{\frac{\rho+1}{\rho}}}\right)^{\frac{\delta_{i}}{i}}\right]^{\frac{\sigma}{1-\sigma}} . \tag{22}
\end{equation*}
$$

Let us solve problem (22) by using Lemma 1. According to (11), for all $r>0$, the following inequality holds:

$$
\begin{equation*}
\prod_{i=1}^{n}\left(\frac{v_{i} \alpha_{i}^{\frac{1}{\rho}}}{\tilde{\delta}_{i}^{\frac{\rho+1}{\rho}}}\right)^{\tilde{\delta}_{i}} \leq\left[\sum_{i=1}^{n} \tilde{\delta}_{i} \cdot\left(\frac{v_{i} \alpha_{i}^{\frac{1}{\rho}}}{\tilde{\delta}_{i}^{\frac{\rho+1}{\rho}}}\right)^{r}\right]^{\frac{1}{r}} \tag{23}
\end{equation*}
$$

Since $\sigma /(1-\sigma)>0$ and the function $x \mapsto x^{\frac{\sigma}{1-\sigma}}$ is increasing (for $x>0$ ), from (22) and (23) we have

$$
\begin{equation*}
M \leq\left(\frac{p^{-1} A^{-1}}{1-\sigma}\right)^{\frac{1}{1-\sigma}}\left(\frac{\sigma}{1-\sigma}\right)^{\frac{-\sigma}{1-\sigma}}\left[\sum_{i=1}^{n} v_{i}^{r} \alpha_{i}^{\frac{r}{\rho}} \tilde{\delta}_{i}^{1-\frac{1+\rho}{\rho} \cdot r}\right]^{\frac{\sigma}{r(1-\sigma)}}, \tag{24}
\end{equation*}
$$

for all $r>0$. By choosing $r=\frac{\rho}{1+\rho}$, from (24) we get

$$
\begin{equation*}
M \leq\left(\frac{p^{-1} A^{-1}}{1-\sigma}\right)^{\frac{1}{1-\sigma}}\left(\frac{\sigma}{1-\sigma}\right)^{\frac{-\sigma}{1-\sigma}}\left(\sum_{i=1}^{n} v_{i}^{\frac{\rho}{1+\rho}} \alpha_{i}^{\frac{1}{1+\rho}}\right)^{\frac{\sigma}{\frac{\rho}{1+\rho}(1-\sigma)}} \tag{25}
\end{equation*}
$$

Equality in (23)-(25) holds if and only if

$$
\begin{equation*}
\frac{v_{i} \alpha_{i}^{\frac{1}{\rho}}}{\tilde{\delta}_{i}^{\frac{\rho+1}{\rho}}}=\frac{v_{1} \alpha_{1}^{\frac{1}{\rho}}}{\tilde{\delta}_{1}^{\frac{\rho+1}{\rho}}}, i=1,2, \ldots, n . \tag{26}
\end{equation*}
$$

From the definition of $\tilde{\delta}_{i}, i=1,2, \ldots, n$, and (26) we get

$$
\begin{equation*}
\tilde{\delta}_{i}=\frac{v_{i}^{\frac{\rho}{\rho+1}} \alpha_{i}^{\frac{1}{\rho+1}}}{\sum_{k=1}^{n} v_{k}^{\frac{\rho}{\rho+1}} \alpha_{k}^{\frac{1}{\rho+1}}}, i=1,2, \ldots, n \tag{27}
\end{equation*}
$$

Thus, by definition of the strict global optimum, the strict global maximum $M$ of problem (22), and at the same time of problem (14), is given by the expression on the right hand side of the inequality (25), and it is achieved if and only if $\tilde{\delta}_{i}, i=1,2, \ldots, n$, satisfy (27). In addition, $M$ represents the strict global minimum of problem (13). Furthermore, since $\max f=\left(\min f^{-1}\right)^{-1}$ for a positive function $f$, we can find $\pi^{C E S}$ via (12)-(13) as follows

$$
\begin{equation*}
\pi^{C E S}=M^{-1}=(p A(1-\sigma))^{\frac{1}{1-\sigma}}\left(\frac{\sigma}{1-\sigma}\right)^{\frac{\sigma}{1-\sigma}}\left(\sum_{i=1}^{n} v_{i}^{\frac{\rho}{1+\rho}} \alpha_{i}^{\frac{1}{1+\rho}}\right)^{\frac{-\sigma}{\frac{\rho}{1+\rho}(1-\sigma)}} \tag{28}
\end{equation*}
$$

Now, from (17), (18) and (27) we get the dual variables

$$
\begin{equation*}
\delta_{i}=\frac{\frac{\sigma}{1-\sigma} v_{i}^{\frac{\rho}{\rho+1}} \alpha_{i}^{\frac{1}{\rho+1}}}{\sum_{k=1}^{n} v_{k}^{\frac{\rho}{\rho+1}} \alpha_{k}^{\frac{1}{\rho+1}}}, \varepsilon_{i}=\frac{\frac{\sigma}{\rho(1-\sigma)} v_{i}^{\frac{\rho}{\rho+1}} \alpha_{i}^{\frac{1}{\rho+1}}}{\sum_{k=1}^{n} v_{k}^{\frac{\rho}{\rho+1}} \alpha_{k}^{\frac{1}{\rho+1}}}, i=1,2, \ldots, n \tag{29}
\end{equation*}
$$

According to [5], from (13), (16)-(19) and (29), we have

$$
\begin{gather*}
t^{-1}=\beta M=M \Rightarrow t=M^{-1},  \tag{30}\\
p^{-1} A^{-1} t s^{\frac{\sigma}{\rho}}=\frac{\gamma}{\gamma+\sum_{k=1}^{n} \delta_{k}}=\frac{1}{1+\sum_{k=1}^{n} \delta_{k}},  \tag{31}\\
p^{-1} A^{-1} v_{i} s^{\frac{\sigma}{\rho}} x_{i}=\frac{\delta_{i}}{\gamma+\sum_{k=1}^{n} \delta_{k}}, i=1,2, \ldots, n,  \tag{32}\\
\alpha_{i} s^{-1} x_{i}^{-\rho}=\varepsilon_{i} / \sum_{k=1}^{n} \varepsilon_{k}, i=1,2, \ldots, n, \tag{33}
\end{gather*}
$$

from where we get

$$
\begin{equation*}
x_{i}^{C E S}=\frac{\frac{\sigma}{1-\sigma}\left(\frac{\alpha_{i}}{v_{i}}\right)^{\frac{1}{\rho+1}}}{\sum_{k=1}^{n} v_{k}^{\frac{\rho}{\rho+1}} \alpha_{k}^{\frac{1}{\rho+1}}} \cdot \pi^{C E S}, i=1,2, \ldots, n \tag{34}
\end{equation*}
$$

Thus, the strict global maximum of the profit maximization problem with CES technology $\pi^{C E S}$ is given by (28), and it is achieved for the input values given by (34).

## 4. The profit maximization problem with Cobb-Douglas technology

Let us first show how the Cobb-Douglas production function (1) can be obtained from the CES production function (6). Let

$$
\begin{equation*}
U=\lim _{\rho \rightarrow 0} A\left(\sum_{j=1}^{n} \alpha_{j} x_{j}^{-\rho}\right)^{-\frac{\sigma}{\rho}} \tag{35}
\end{equation*}
$$

Since (7) holds, by taking a natural logarithm and after applying the L'Hospital's rule, from (35) we have

$$
\begin{align*}
\ln U & =\ln A+\lim _{\rho \rightarrow 0} \frac{-\sigma \ln \left(\sum_{j=1}^{n} \alpha_{j} x_{j}^{-\rho}\right)}{\rho} \stackrel{L^{\prime} H}{=} \ln A+\lim _{\rho \rightarrow 0} \frac{\sigma \sum_{j=1}^{n}\left(x_{j}^{-\rho} \ln x_{j}^{\alpha_{j}}\right)}{\sum_{j=1}^{n} \alpha_{j} x_{j}^{-\rho}}=  \tag{36}\\
& =\ln A+\frac{\sigma \sum_{j=1}^{n} \ln x_{j}^{\alpha_{j}}}{\sum_{j=1}^{n} \alpha_{j}}=\ln A+\frac{\sum_{j=1}^{n} \ln x_{j}^{\sigma \alpha_{j}}}{1}=\ln \left(A \prod_{j=1}^{n} x_{j}^{\sigma \alpha_{j}}\right) .
\end{align*}
$$

Let

$$
\begin{equation*}
\varphi_{j}=\sigma \alpha_{j}, j=1,2, \ldots, n \tag{37}
\end{equation*}
$$

and note that

$$
\begin{equation*}
\sum_{j=1}^{n} \varphi_{j}=\sigma \sum_{j=1}^{n} \alpha_{j}=\sigma<1 . \tag{38}
\end{equation*}
$$

Then, from (36) we have

$$
\begin{equation*}
U=\lim _{\rho \rightarrow 0} A\left(\sum_{j=1}^{n} \alpha_{j} x_{j}^{-\rho}\right)^{-\frac{\sigma}{\rho}}=A \prod_{j=1}^{n} x_{j}^{\varphi_{j}} . \tag{39}
\end{equation*}
$$

Thus, the Cobb-Douglas production function given by (1) is the limit when $\rho \rightarrow 0$ of the CES production function given by (6).

Further, let us show how $\pi^{C-D}$ from (4) can be obtained from $\pi^{C E S}$. From (28) we have

$$
\begin{align*}
\lim _{\rho \rightarrow 0} \pi^{C E S} & =\lim _{\rho \rightarrow 0}(p A(1-\sigma))^{\frac{1}{1-\sigma}}\left(\frac{\sigma}{1-\sigma}\right)^{\frac{\sigma}{1-\sigma}}\left(\sum_{i=1}^{n} v_{i}^{\frac{\rho}{1+\rho}} \alpha^{\frac{1}{1+\rho}}\right)^{\frac{-\sigma}{\frac{\rho}{1+\rho}(1-\sigma)}}  \tag{40}\\
& =(p A(1-\sigma))^{\frac{1}{1-\sigma}}\left(\frac{\sigma}{1-\sigma}\right)^{\frac{\sigma}{1-\sigma}} \cdot \Lambda
\end{align*}
$$

where

$$
\begin{equation*}
\Lambda=\lim _{\rho \rightarrow 0}\left(\sum_{i=1}^{n} v_{i}^{\frac{\rho}{1+\rho}} \alpha^{\frac{1}{1+\rho}}\right)^{\frac{-(1+\rho) \sigma}{\rho(1-\sigma)}} . \tag{41}
\end{equation*}
$$

Since (7) holds, by taking a natural logarithm and after applying L'Hospital's rule, from (41) we have

$$
\begin{align*}
& \ln \Lambda=\lim _{\rho \rightarrow 0} \frac{-(1+\rho) \sigma \ln \left(\sum_{i=1}^{n} v_{i}^{\frac{\rho}{1+\rho}} \alpha_{i}^{\frac{1}{1+\rho}}\right)}{\rho(1-\sigma)}= \\
& \stackrel{L^{\prime} H}{=} \lim _{\rho \rightarrow 0} \frac{-\sigma \ln \left(\sum_{i=1}^{n} v_{i}^{\frac{\rho}{1+\rho}} \alpha_{i}^{\frac{1}{1+\rho}}\right)-(1+\rho) \sigma\left(\frac{1}{(1+\rho)^{2}} \sum_{i=1}^{n} v_{i}^{\frac{\rho}{1+\rho}} \alpha_{i}^{\frac{1}{1+\rho}} \ln \frac{v_{i}}{\alpha_{i}}\right) /\left(\sum_{i=1}^{n} v_{i}^{\frac{\rho}{1+\rho}} \alpha_{i}^{\frac{1}{1+\rho}}\right)}{1-\sigma}  \tag{42}\\
& =-\frac{\sigma}{1-\sigma} \sum_{i=1}^{n} \alpha_{i} \ln \frac{v_{i}}{\alpha_{i}}=\ln \prod_{i=1}^{n}\left(\frac{v_{i}}{\alpha_{i}}\right)^{-\frac{\sigma \alpha_{i}}{1-\sigma}} .
\end{align*}
$$

Thus, from (37) and (40)-(42) we have

$$
\begin{align*}
\lim _{\rho \rightarrow 0} \pi^{C E S} & =(p A(1-\sigma))^{\frac{1}{1-\sigma}}\left(\frac{\sigma}{1-\sigma}\right)^{\frac{\sigma}{1-\sigma}} \prod_{i=1}^{n}\left(\frac{v_{i}}{\alpha_{i}}\right)^{-\frac{\sigma \alpha_{i}}{1-\sigma}} \\
& =(p A)^{1 / \sum_{i=1}^{n} \varphi_{i}}(1-\sigma) \sigma^{\frac{\sigma}{1-\sigma}} \prod_{i=1}^{n}\left(\frac{v_{i}}{\varphi_{i} / \sigma}\right)^{-\frac{\varphi_{i}}{1-\sum_{i=1}^{n} \varphi_{i}}} \\
& =(p A)^{1 / \sum_{i=1}^{n} \varphi_{i}}(1-\sigma) \sigma^{\frac{\sigma}{1-\sigma}} \sigma^{\frac{-\sigma}{1-\sigma}} \prod_{i=1}^{n}\left(\frac{v_{i}}{\varphi_{i}}\right)^{-\frac{\varphi_{i}}{1-\sum_{i=1}^{n} \varphi_{i}}}  \tag{43}\\
& =(p A)^{1 / \sum_{i=1}^{n} \varphi_{i}}\left(1-\sum_{i=1}^{n} \varphi_{i}\right)^{n} \prod_{i=1}^{n}\left(\frac{v_{i}}{\varphi_{i}}\right)^{-\frac{\varphi_{i}}{1-\sum_{i=1}^{n} \varphi_{i}}} \\
& =\pi^{C-D} .
\end{align*}
$$

Thus, the profit $\pi^{C-D}$ from (4) is the limit when $\rho \rightarrow 0$ of the profit $\pi^{C E S}$ from (28).
Finally, let us show how $x_{i}^{C-D}$ from (5) can be obtained from $x_{i}^{C E S}, i=1,2, \ldots, n$. Let

$$
\begin{equation*}
V_{i}=\lim _{\rho \rightarrow 0} x_{i}^{C E S}, i=1,2, \ldots, n \tag{44}
\end{equation*}
$$

Since (7) and (37) hold, from (34), (43) and (44) we have

$$
\begin{align*}
V_{i} & =\lim _{\rho \rightarrow 0} \frac{\frac{\sigma}{1-\sigma}\left(\frac{\alpha_{i}}{v_{i}}\right)^{\frac{1}{\rho+1}}}{\sum_{k=1}^{n} v_{k}^{\frac{\rho}{\rho+1}} \alpha_{k}^{\frac{1}{\rho+1}}} \cdot \pi^{C E S}=\lim _{\rho \rightarrow 0} \frac{\frac{\sigma}{1-\sigma}\left(\frac{\alpha_{i}}{v_{i}}\right)^{\frac{1}{\rho+1}}}{\sum_{k=1}^{n} v_{k}^{\frac{\rho}{\rho+1}} \alpha_{k}^{\frac{1}{\rho+1}}} \cdot \lim _{\rho \rightarrow 0} \pi^{C E S}= \\
& =\frac{\frac{\sigma}{1-\sigma} \cdot \frac{\alpha_{i}}{v_{i}}}{\sum_{k=1}^{n} 1 \cdot \alpha_{k}^{1}} \pi^{C-D}=\frac{\sigma}{1-\sigma} \cdot \frac{\varphi_{i} / \sigma}{v_{i}} \cdot \pi^{C-D}=\frac{\pi^{C-D} \varphi_{i}}{v_{i}\left(1-\sum_{k=1}^{n} \varphi_{k}\right)}  \tag{45}\\
& =x_{i}^{C-D} .
\end{align*}
$$

Thus, $x_{i}^{C-D}$ from (5) is the limit when $\rho \rightarrow 0$ of $x_{i}^{C E S}, i=1,2, \ldots, n$, from (34).

## References

[1] S. N. Avvakumov, Yu. N. Kiselev, M. V. Orlov, A. M. Taras'ev, Profit maximization problem for Cobb-Douglas and CES production function, Comput. Math. Model. 21 (2010) 336378. doi: 10.1007/s10598-010-9075-5
[2] S. Boyd, S.-J- Kim, L. Vandenberghe, A. Hassibi, A tutorial on geometric programming, Optim. Eng. 8 (2007), 67-127. doi: 10.1007/s11081-007-9001-7
[3] C. S. Beightler, D. T. Philips, Applied Geometric Programming, John Wiley \& Sons, New York, 1976.
[4] P. S. Bullen, Handbook of Means and Their Inequalities, vol. 560, Kluwer Academic Publishers, Dordrecht, The Netherlands, 2003.
[5] R. J. Duffin, E. L. Peterson, C. Zener, Geometric programming - Theory and Applications, John Wiley \& Sons, New York, 1967.
[6] G. A. Jehle, P. J. Reny, Advanced microeconomic theory, FT Prentice, New Jersey, 2011.
[7] S. T. Liu, A geometric programming approach to profit maximization, Appl. Math. Comput. 182 (2006) 1093-1097. doi: 10.1016/j.amc.2006.04.061

